Solutions to Sample Problems for Exam 3

College of
Calculus I, MTH 231, Spring 2019 Statenlisland

Instructor: Abhijit Champanerkar

e Exam 3 will be held in class on Monday May 13th.
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O Miniwize Fence = T2y . "
Giiven ares= 1y=1000 = Y= 100% | ~ -
fiyy= XT20% 270 {h)sl 20 =0 = ¥ 200 L= -IT_—

As 209 z:ow= 20[B= 4472 Y=J2& =0= 2.3

Dimensons aye 4472 x 23661

(D Let xobuse & y: boightt | Minine Cost= $1 (x42)+ $ 2 (4xy) = 22 By
Given volune= 'Y= 208° = Y= 2042

)= 2x* +/x , 70 ,.F‘(/,), 4r-egfr =0 = X=40 x & 342

Y= 296d2) = |71 , Dimensons ave hryviax V1l -f

(a) Rs=65,Ls =38
(b) Rg = 0.7426, Lg = 0.8259.

Az = 3/N, a—O b=3.
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RN_Ang 3/N) = Z(3<§’§>2+2>=%;iﬂ—é%;ma%?%w
Hence Ry = (27(N +21N)(22N +1) =+ 6)
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So/O 3x2—5x+2dg;:N1£nooRN =27+ 6 = 33.
(a) —sin(4 —7t)/7+C (b) 9t13/9 4 21/2¢2/3 4 C (c) 2In(5u +2)/5+ C
(d) (4—cosm)3/2/3+0 (e) 14592 /9 + 4532 /3 + C (f) sin*y/4 +C
(g) e @’ /3+C (h) (Inx)?/2+C
(a) 2/3 (b) 3/4 (c) V2 -1 (d) —49/3 (e) 1/2
(1) &5 () ~1/18 () 0
(a) y = sin(z?) (b) 3/ = sin® z cos = (c)y =-2/x

Done in class during Review.



